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#include <stdio.h> (
FILE =fpB: char #BBB="B. txt": 4 dx
/3 y=f () ZBHK L'CL\&?‘***( double F( double x ) { return 4/(i+x:0) ;1 0 ,S"-: y —l:f‘—{: = ff(x)ﬂ[x

[
void main(void) { char ¢; int K,N, B, i; double A, B, a=0,b=1, §1,82,83,x,dx;

o

fpB=fopen (BBB, “w") ;printf (”¥n¥n';): fprintf (fpB, "¥n¥n") : f[ x) = —i-—‘ % "Z_;( L’l\»;

for (B=1:M<8;++H) { N=2+#§: dx=(b-a)/N: I x> }
81=0;  for (i=1ii<=N:ii++) [ x=a+dwwi; S1=S1+f(x): ] i S1=Stadx :

82=81+ ( (8) = (b)) #dx/2; ' -
v = .
A=0; for (i=1;i<=M;i+¥) [ x= ar(@xi-D)%dx; A=A+T(0):] (—-ﬂ Y‘ojMu-— ‘/"r,’ L
B=0: For (i=1;i<#:i++) { x=a+ 2%ixdx : B=B+F(x):} M= / 7,‘;7 7 \\/?,"("
§3=(F () +F (b) +4xA+24B) #dx/3: _ Neam 12 N < w\>
printf(  “¥n SI(4d)=Hf S2(4)=Hf SIGA)=HT - N, SIN,S2.M.83); ) =25 e
forintf(fpB, “¥n S1(hd)=%f S2(%d)=Hf S3(%d)=%f ", N.S1,N,52,N.83): } ¢ LR

For (K=2:K<11:++K) [ M=tk N=2+M: dx=(b-a)/N;
§1=0; for (i=1;i<=N;i+¥) [ x=ardixi: S1=S1+F(): } : S1=Slxdx :

$§2=81+(F (a) ~F (b)) #dx/2: (%)U /)Yva o L.

A=0; for (i=1:i<=M:i+#) [ = a+(2%i-1)*xdx: A=A+T(x):
B=0; for (i=1;i<B:ii+®) [ x= a+ 2%ixdx [ B=B+(x0): .
$3=(F (a) +F (b) +44A+258) dx/3: Ke2 m (o &

Pintf( Yo SIG=YF S2(HA)=YT S3(hd)=xf ”.NSI.N.S2, e 3 < y /oo
I tron, “¥n SIGO-SF S2(R-kt S30hd)=kt ~N SN S Me k3 x me A} (000
3 ~ Al >
printf (“¥n¥n"): fprintf (foB, “¥n¥n") ; M 2k712 N=/bAs2vo0 2

c=getohar ( ); if(c=="1") return;fclose(fpB):return; ] r LAl
Jesespeessereoaks . End of Program ‘
R (see B.ixt)
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§=2000 THL A, . N=1458C0a &, , B8 BT ClTo o «

m,,,nm
S1 (23 =2. 600000 S$2(2)=3.100000 $3(2)=3.133333 (N 2% !

$1(4)=2.881176 $2(4)=3.131176 $S3 (4)=3. 141569

31(6)=2. 970296 $2(6)=3.136963 S3(6)=3.141592
$1(8)=3.013088 82(8)=3.138088 $3(R)=3 141503
51(10)=3. 039026 $2(10)=3.139926 S3(10)=3. 93
81(12)=3.057102 S$2(12)=3. 140435 $3(12)=3.141503
$1(14)=3. 080314 §2(14)=3.140742 $3(14)=3. 141593
$1(16)=3.078442 $2(16)=3.140042 '83(16)=3. 141593
51(54)=3. 123017 S2(54)=3. 141535 83(54)=3, 141593
§1(128)=3. 133770 S2(128)=3.141582 $3(128)=3. 141593
81(250)=3. 137580 $2(250)=3. 141590 $3(250)=3. 141593
81(432)=3, 130277 $§2 (4323 =3, 141592 S$3(432)=3. 141503
$1(686)=3. 140135 $2(686)=3, 141592 53(686)=3, 141503

$1(1024)=3. 140616 $2(1024)=3. 141592 $3(1024)=3. 141593
$1(1458)=3. 140907 2 (1458)=3 83(1458)=2. 141563
$1(2000) =3, 551 093 "S2(2000)=3. 141593 ), $3 (2000)=3. 141583 -
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